3-]AW SCROLL CHUCKS
B EmEY = JT\2&8

R I B > Dimensions

PS 4-JAW SCROLL CHUCKS
SESHEIPY T\ ZEE

R I B > Dimensions

BU3LEY %38
Front Mounting Rear Mounting /9
ﬁq 5 —-
z
2
HEB}CH_ _ Led Wl o al <
Q Ql Q@ Q
i F
g L
#82 #% 38 > Specifications & {T/UNIT:mm
AT FRAS e UiER IR#EEEE Max. Gripping Diameter  jRE
MODEL A B C D E F G H J K L Max.Speed NEAEIE AEEE Weight
/ SPEC. r.p.m.(min"") 0.D.Clamping I.D.Clamping (k@)
SC-03 85 45 60 73 16 3.5 3-M6x1P 35 11 15 7 2500 02-070 024-064 1.5
SC-04 112 58 80 95 24 45 3-M8x1.25P 42 14 17 8 2500 03-090 032-084 3.3
SC-05 132 60 100 115 32 45 3-M8x1.25P 50 16 20 8 2500 03-0110 ©35-0100 4.6
SC-06 167 66 130 147 45 5 3-M10x1.5P 65 19 23 10 2000 04-0160 048-9150 7.9
SC-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-g170 12.0
SC-08 203 76 160 176 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 13.3
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 85 24 345 12 2000 05-0220 062-9210 19.3
SC-10 273 86 230 250 89 55 3-M12x1.75P 98 28 39 12 1800 06-0260 070-0250 26.2
SC-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 ©10-2300 086-29290 37.6
SC-14 355 112 300 328 127 7 6-M12x1.75P 132 35 50 15 1500 012-g350 096-9320 57.2
SC-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 214-0400 2100-2380 80.7
Y73 E
FHEBY 7/ ZE
R I & > Dimensions
BU3LEY %35
J Front Mounting Rear Mounting G
(= =
T =
C - By dds
Q| Q| Q|
% : g
- L
B
2 #% 38 > Specifications BE{i/UNIT:mm
AT RS e biER IEEEEE Max. Gripping Diameter 38
MODEL A B C D E F G H J K L Max.Speed IR Weight
/ SPEC. r.p.m.(min™) 0.D.Clamping (kg)
AS-04 112 58 80 95 32 45 3-M8x1.25P 45 14 46 8 1200 02-032 3.8
AS-06 167 65 130 147 60 5.0 3-M10x1.5P 66 19 43 10 1200 23-060 8.2

41

Bi3LEY %38
Front Mounting Rear Mounting G
— =
2t
5
EEB;’\J}__ L] w__ |l ol al<
Q| ol §
LT[ F
NN
#82 £% & > Specifications BSfiI/UNIT:mm
AU /4RAE BeOESR iEEE Max. Gripping Diameter /8
MODEL A B C D E F G H J K L Max.Spged N IR ESTRcE ut Weight
/SPEC. r.p.m.(min')  ©O.D.Clamping I.D.Clamping (kg)
PS-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.1
PS-09 233 84 190 210 70 55 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.4
PS-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 010-300 086-0290 38.1
PS-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 014-0400 0100-0380 82.4
1 O
FHERY/\/T\ 35
R Y BE > Dimensions
B
G %
: —
N
B
R £% 38 > Specifications B{i/UNIT:mm
LUGWE ) S ReOiEsE IE¥EFEE Max. Gripping Diameter BE
MODEL A B C D E F G H J K L Max.Speed NEICIE Weight
/ SPEC. r.p.m.(min") 0O.D.Clamping (kg)
AE-09 233 84 190 210 100 55 4-M12x1.75P 85 24 60 12 1000 07-9100 21

42



PS 4-JAW POWERFUL TYPE SCROLL CHUCKS
568 7] 58 ShBY PO T2 T

3-]AW POWERFUL TYPE SCROLL CHUCKS
5 JJ BY = JT\2& 8

R - B > Dimensions R = B > Dimensions

BI3LE %33 . A3LE w3Lm
Front Mounting RearWMouming /C_'i Front Mounting Rear Mounting /Q
?_:A.;;E EEE> E’ ? e == EE}»E ==
= [ o
,,,,,,,,,,,,,,,,,, — il e
%_ i K| w_ [ olal< %_ il K w1 oal <
i Q 8 o 8 Q 8 o &
T- ________________ —+-E —-E
B——ILL— B L
#5 #% & > Specifications B {{/UNIT:mm #7 1& & > Specifications BEfiI/UNIT:mm
BT /1R Be0iEE EIEEE Max. Gripping Diameter @E =t e BeibiEE IEIEEE Max. Gripping Diameter Y38
- * ° ¢ P E F ¢ HoJ KL Maxdpeed QEiE peiniE - Weight WOEL A B ¢ D E F G H J K L MaxSpeed  simiE psiEE  Weight
/ SPEC. r.p.m.(min")  O.D.Clamping 1.D.Clamping (kg) / SPEC. rp.m.(min') O.D.Clamping 1.D_Clamping (ka)
SK-04 112 58 80 95 24 45 3-M8x1.25P 47 19 315 8 2500 23-2100 035-993 3.45
SK-05 132 60 100 115 32 4.5 3-M8x1.25P 57 24 36 8 2500 23-0123 043-0122 5.0
SK-06 167 66 130 147 45 5 3-M10Ox1.5P 68 26 39 10 2000 08-0160 055-0150 8.6 PSK-07 193 76 155 172 58 5 3Mi10x1.5P 82 28 43 11 2000 08-0180 062-0170 127
SK-07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 M 2000 28-0180 062-0170 12.8 g R B ~
SK-08 203 76 160 176 58 5 a3Mi0xi5P 82 28 43 11 2000 08-0180 062-0170 141 PSK-09 233 84 190 210 70 5.5 3-M12x1.75P 93 32 50 12 2000 011-0220 070-2210 20.8
SK-09 233 84 190 210 70 5.5 3-M12x1.75P 93 32 50 12 2000 011-0220 070-2210 20.4 PSK-12 310 96 260 285 105 7 3-M12x1.75P 118 40 56 14 1800 215-¢300 290-9290 43
SK-10 273 86 230 250 89 55 3-M12x1.75P 102 32 545 12 1800 212-0260 080-250 26.7
SK-12 310 96 260 285 105 7 3-M12x1.75P 118 40 56 14 1800 015-0300 290-2290 39.3 PSK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 230-2400 2110-2380 86.7
SK-14 355 122 300 328 127 7 6-M12x1.75P 139 45 70.5 15 1500 2925-0350 2110-0320 60.7
SK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 030-0400 2110-2380 82.3 PSK-20 500 140 420 458 205 5.5 6-M16x2P 140 55 84 19 1000 025-0480 0125-0460 149
SK-20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 0125-0460 145.5
3% B = T\5&5 B B =TI 58
[EEFiv 28] [EEEEL 33
R T B >» Dimensions R T BE >» Dimensions
B-1 A1 Fig.1 A1 type B-2 A2Z)  Fig.2 A2 type B
~C— e e \
L Y
- =Y il
: Qﬂ ﬂ e | S = i@j
i I S
ooy
P
g K P ol gm—%———- C O —rel el
=AY l A I
& A7 730" G_/ = J7 730" 770
_ L
B _ELL_ IJ;I
#7318 5= > Specifications BEfiI/UNIT:mm #R % F& > Specifications BEfi/UNIT:mm
. e SemEE: EiEEE u5 U /3RS USSR OiEE5E Max. Gripping Diameter /B E
Bzt (1218 o M s M erioping Pameter R VODEL A B o b E F & H 4 K L MaxSpeed  ShmiEsE pymimE  Weight
MODEL A B C D E F G H J KL P M N Reference Max.Speed siigigiE g  Weight / SPEC P ODCIIm o IDCIIm = K
/ SPEC. Drawing r.p.m.(min") C|Srh?)ing C|a|r'~r?p;ing (kg) > r.p.m.(min") .D.Clamping .D.Clamping (kg)
D15-08" 200 83 82.563 15 46 19 1048 82 28 43 11 2000 08-0180 062-g170 17.8
A15-08" 200 83 33.5 619 40 0104.8 3-M10x1.5P 82 82.563 28 43 11 14.29 ¢16.3 6.8 B-1 fig.1 2000 08-0180 062-0170 17.4 D16-08" 200 83 106.375 16 58 222 1334 82 28 43 11 2000 08-0180 062-0170 17.3
A16-08" 200 83 335 826 56 0133.4 3-M12x1.75P 82 106.375 28 43 11 15.88 019.3 6.8 B-1fig.1 2000 ©08-0180 0©62-0170 18 D16-10" 255 94 106.375 16 76 222 1334 93 32 50 12 1800 211-0240 270-0230 31.3
. 5 133.4 3-M12x1.75P ] 5 191 ; ; ) 11024 5 D18-10" 255 94 139.719 18 76 254 1714 93 32 50 12 1800 211-0240 070-0230 30.9
A16-10" 255 91.536.5 826 56 ©0133.4 3- x1.75P 93 106.375 32 50 5.88 019.3 6.8 B-1 fig.1 800 011-0240 070-0230 30.6 D:8-12" 310 105 139719 18 103 254 1714 118 40 56 14 1800 215-0300 290-0290 511
A211-20" 500 135 40 235 190.5 9235 6-M20x2.5P 140 196.869 5584 19 - ©29.4 10.7 E-2 fig.2 1000 ©25-0480 0125-0460 161.5 D111-20" 500 135 196.869 -- 190.5 302 235 140 55 84 19 1000 025-0480 0125-0460 165.5

43



